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QUESTION 1

As a DevOps engineer, you want a single tool that uses one automation language consistently across orchestration,
application deployment, and configuration management.

In this scenario, which tool would you choose?
A. Docker

B. Ansible

C. Selenium

D. Octopus

Correct Answer: D

QUESTION 2

You are using REST APIs to deploy and manage storage that is provided by NetApp Cloud Volumes ONTAP in
Microsoft Azure. You are a federated user, and you want to communicate with an authenticated endpoint. In this
scenario, how should you acquire the JWT access token?

A. Use the API key generator.

B. Use a JWT access token generator.

C. Use the refresh token generator.

D. Use an e-mail address and password

Correct Answer: A

QUESTION 3

You used a Terraform configuration to create a number of resources in Google Cloud for testing your applications. You
have completed the tests and you no longer need the infrastructure. You want to delete all of the resources and save
costs.

In this scenario, which command would you use to satisfy the requirements?

A. terraform untaint

B. terraform apply

C. terraform force--unlock

D. terraform destroy

Correct Answer: D
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QUESTION 4

You are using Nvidia DeepOps to deploy Kubernetes clusters on top of NetApp ONTAP Al systems. In this scenario,
which automation engine is required?

A. Ansible
B. Puppet
C. Jenkins
D. Terraform

Correct Answer: A

QUESTION 5

You have a single node Cloud Volumes ONTAP (CVO) system in AWS.

In this scenario, which two activities will cause system downtime? (Choose two.)
A. Change the disk type of a volume from HDD (stl1) to SSD (gp2).

B. Change the Cloud Volumes ONTAP EC2 instance type.

C. Upgrade the Cloud Volumes ONTAP system software.

D. Apply a new Cloud Volumes ONTAP license.

Correct Answer: CD
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